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LUT as general logic gate
• An n-lut as a direct implementation 

of a function truth-table.
• Each latch location holds the value 

of the function corresponding to 
one input combination.

0000    F(0,0,0,0)
0001    F(0,0,0,1)
0010    F(0,0,1,0)
0011    F(0,0,1,1)
0011
0100
0101
0110
0111
1000
1001
1010
1011
1100
1101
1110
1111

INPUTS
store in 1st latch
store in 2nd latch

Example: 4-lut

Example: 2-lut
ORANDINPUTS

11     1     1
10     0     1
01     0     1
00     0     0

Implements any function of 2 inputs.  

How many of these  are there?
How many functions of n inputs?


